

ABDUL FATIMA OSHIONIZ
191MHS011003

MBBS

$$\int \frac{2x}{\sqrt{4x^2-1}} dx$$

Soln

$$\text{let } u = 4x^2 - 1$$

$$\left(\frac{u-1}{4}\right)^{1/2} = x$$

$$x = \left(\frac{u-1}{4}\right)^{1/2} \Rightarrow \frac{(u-1)^{1/2}}{2}$$

$$\frac{dx}{du} = \frac{1}{4(u-1)^{1/2}}$$

$$dx = \frac{du}{4(u-1)^{1/2}}$$

$$\int \frac{2x}{\sqrt{4x^2-1}} dx = \int \frac{2 \left(\frac{u-1}{4}\right)^{1/2}}{2} \cdot \frac{1}{u^{1/2}}$$

$$= \int \frac{2(u-1)^{1/2}}{4} \cdot \frac{1}{u^{1/2}} \cdot \frac{du}{4(u-1)^{1/2}}$$

$$= \frac{1}{4} \int u^{-1/2} du$$

$$= \frac{1}{4} \left\{ \frac{u^{1/2}}{1/2} \right\} + C$$

$$= \frac{2}{4 \cdot 2} \left\{ (4x^2-1)^{1/2} \right\} + C$$

$$\int \frac{2x}{\sqrt{4x^2-1}} dx = \frac{1}{2} \left\{ \sqrt{4x^2-1} \right\} + C //$$

$$2) \int \frac{\sin^{-1} x}{\sqrt{1-x^2}} dx$$

$$\text{let } u = \sin^{-1} x$$

$$\frac{du}{dx} = \frac{1}{\sqrt{1-x^2}}$$

$$dx = (\sqrt{1-x^2}) du$$

$$\int \frac{\sin^{-1} x}{\sqrt{1-x^2}} dx = \int \frac{u}{\sqrt{1-x^2}} \cdot \sqrt{1-x^2} du$$

$$= \int u du$$

$$= \frac{u^2}{2} + C$$

$$\int \frac{\sin^{-1} x}{\sqrt{1-x^2}} dx = \frac{(\sin^{-1} x)^2}{2} + C$$

$$3 \int (\tan x)^6 \sec^2 x dx$$

soln

$$u = \tan x, \quad \frac{du}{dx} = \sec^2 x$$

$$dx = \frac{du}{\sec^2 x}$$

$$= \int u^6 \cdot \cancel{\sec^2 x} \cdot \frac{du}{\sec^2 x}$$

$$= \frac{u^7}{7} + C$$

$$\int (\tan x)^6 \sec^2 x dx = \frac{(\tan x)^7}{7} + C$$